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Sample Paper – 2012
Class – XII
Subject – Accountancy
Time allowed: 3 hours






Maximum Marks: 80

General Instructions:

(i) This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all

(iii) Attempt only one part of the remaining B and C.

(iv) All parts of questions should be attempted at one place.

Part A

 Not-for profit organization, Partnership firm and Companies

1
Distinguish one difference between Receipt and payment account and cashbook.



1

2
Distinguish one difference between fixed capital and fluctuating capital.




1

3
What is the nature of goodwill?








1

4
What is revaluation Account?








1

5
What is under-subscription?
6
On the basis of the information given below, calculate the amount of stationery to be debited to the “Income and 
Expenditure 
Account” of Good Health Sports Club for the year ended 31st March 2009:

	
	1 – 4 – 2008

       Rs.
	31 – 3 – 2009

       Rs

	Stock of stationery

Creditors of stationery
	80,000
90,000
	60,000
55,000



Stationery purchased during the year ended 31- 3 – 2009 was Rs. 2,47,000.




3
7
Describe the purposes for which a company can use ‘Security Premium Account’.



3
8
DHU Ltd. invited application for issuing 1,00,000 equity shares of Rs. 10 each at a premium of Rs. 5 per share.  The whole 
amount was payable on application.  The issue was over-subscribed by 30,000 shares and allotment was made on pro-rata 
basis.  Pass the necessary journal entries.







3
9
Upasana Ltd issued 50,000 10% debentures of Rs. 100 each based on the following conditions:


(i)
Debentures issued at par and redeemable at par.


(ii)
Debentures issued at a premium of 10% and redeemable at par.


(iii)
Debentures issued at par and redeemable at premium of 8%.


(iv)
Debentures issued at premium of 6% and redeemable at a premium of 4%.





Pass necessary journal entries in the above mentioned cases at the time of issue.



4.

10
PK, DK and RK were partners in a firm sharing profits in 2 : 2 : 1 ratio.  The firm closes its books on 31st  March every year.  PK 
died three months after the last accounts were prepared.  On that date, the goodwill of the firm is valued at Rs. 75,000.  On the 
death of a partner his share of the profit in the year of death was to be calculated on the basis of the average profits of the last 
four year less 10%.  The profit of last four years were:_

1st year:
Rs. 3,00,000; 
2nd year:   Rs. 2,70,000; 
3rd year:     Rs. 3,15,000
and 4th year:   Rs. 2,55,000 (loss)

Pass necessary journal entries for the treatment of goodwill and PK’s share of profit on his death.  Show clearly the calculation 
of PK’s share of profit.









4

11
On 31st March 2007 after the close of books of accounts, the capital accounts of P, Q and R stood at Rs. 1,20,000, Rs. 1,00,000 and Rs. 60,000 respectively.  The profits for the year Rs. 1,80,000 was distributed equally.  Subsequently it was discovered that interest on capital @ 5% omitted.  The profit sharing ratio was 2 : 2 : 1.  Pass an adjustment journal entry.
4

12
The Balance sheet of A, B and C who were sharing the profits in ratio of 4 : 2 : 1. B decided to retire as on 31st March 2009, the position of assets and liabilities are as follows:

	Liabilities
	Rs.
	Assets
	Rs.

	Capital Account
               A

               B

               C

Bills payable

General Reserve

Creditors
	1,80,000

1,20,000

1,00,000

   12,000

   42,000

   90,000

5,44,000
	Goodwill
Stock

Debtors

Land & Building

Machinery

Motor van

Cash at Bank
	    56,000
    90,000

    66,000

 1,20,000

 1,59,000

    31,000

    22,000

5,44,000



On the date of retirement, the following adjustments were to be made:

(i) 
Firm’s goodwill was valued at Rs. 1,40,000.


(ii)
Assets and liabilities are to valued as under : stock Rs. 72,000; Land and Building Rs. 135,600; Debtors 
Rs. 63,000; Machinery Rs. 1,50,000 and Creditors Rs. 84,000.







(iii)
A to bring Rs. 1,20,000 and C Rs. 30,000 as additional capital.


(iv)
B was to paid Rs. 97,200 in cash and the balance of his capital transfer to his loan account.


Prepare Revaluation Account and Partners’ capital accounts




6

13
(a)
Harshita Ltd. acquired assets of Rs. 80 lakhs and  took over creditors of Rs 8 lakhs from Deepak 
Enterprises.  Harshita Ltd. issued 8% debentures of Rs. 100 each at a 


(i) par

ii) at a premium of 25%
as a purchase consideration.



Pass the necessary journal entries in books of Harshita Ltd.


(b)
A company took a loan of Rs. 5,00,000 from Bank of Baroda and issued 10% debentures of Rs. 8,00,000 
as a collateral security.   Pass the necessary journal entries.


(3 + 3 ) = 6
14
Following Receipt any payment Account was prepared from the cash Book of Baba Karam Singh Charitable Trust for the year ended March 31, 2009




Receipt and Payment account for the year ending March 31, 2009

	               Receipt
	        Rs.
	                  Payment
	          Rs.

	Balance b/d

       Cash in hand

       Cash at Bank

Donation

Subscription

Legacies

Interest on investment

Sale of old Newspaper
	11,500

12,600

  9,000

42,800

18,000

  4,500

     200

 _____

98,600
	Charity

Rent and taxes

Salary

Printing

Postage

Advertisements

Insurances

Furniture

Investments

Balance c/d

              Cash in hand

               Cash at bank


	11,500
  3,200

  6,000

     600

     300

  4,500

  2,000

21,600

23,000

  9,900

16,000

98,600



Prepare Income and Expenditure Account for the year ended Mach 31st , 2009 after the following adjustments:
(a)
It was decided to treat one-third of the amount received on account of donation as income.

(b)
Insurance premium was paid in advance for three months.

(c)
Interest on investments Rs. 1,100 accrued was not received.




6
(d)
Rent Rs. 600; Salary Rs. 900 and Advertisement Expenses Rs. 1,000 outstanding as on 31st March 2009.

15
A and B were partners in a firm sharing profit in 3 : 1 ratio.  The admitted C as a partner for 1/4th share in profits.  C was to bring Rs. 60,000 for his capital.  The balance sheet of A and B on 1.4.2007, the date on which C was admitted, was follows:



Liabilities.
     Rs


Assets


   
       Rs.

Creditors

70,000


land and Building

40,000

Capital

A
50,000


Plant and Machinery

70,000



B
80,000


Stock



30,000

General Reserve

10,000


Debtors


35,000







Less provision for 







         Doubtful debt
1,000
34,000







Investments


26,000




______


Cash



10,000

                                        2,10,000





             2,10,000


The other terms agreed upon were:

(i) Goodwill of the firm was valued at Rs. 24,000

(ii) Land and building were valued at Rs. 65,000 and Plant and Machinery at Rs. 60,000.

(iii) Provision for bad and doubtful debts was found in excess by Rs. 400.

(iv) A liability of Rs. 1,200 included in Sundry Creditors was not likely to arise.

(v) The capitals of the partners be adjusted on the basis of C’s contribution of capital to the firm.

(vi) Excess or shortfall If any to be transferred to current accounts.

Prepare Revaluation Account, Partners capital accounts and Balance sheet of the new firm.

8







OR

Give the journal entries for the following transactions to recode the realisation of various assets and liabilities:


(a)
Firm has a stock of Rs. 1,60,000.  A, a partner took over 50% of the stock at a discount of 20% and 
remaining stock sold at a profit of 30% on book value.


(b)
Land and building (book value Rs. 1,60,000) sold for Rs. 3,00,000 through a broker who charged 2% 




commission on the deal.


(c)
Plant and Machinery (book value Rs. 60,000) was handed over to a creditor at an agreed valuation of 10% 
less than the book.  His claim is Rs. 60,000.


(d)
Ashish, an old customer whose account for Rs. 1,000 was written off as bad in the previous year, paid 
60% of the amount.








(e)
B, is one the partner who bear all realisation expenses for which he get a commission of Rs. 400. Actual 
realisation expenses Rs. 700 which is paid from firm Bank account.

(f)
Loss on realisation Rs. 30,000.







8
16
Deepak Ltd.  invited applications for issuing 4,00,000 equity shares of Rs. 50 each at a premium of RS. 10 per share.  The amount was payable as follows:





On Application:

Rs. 30 (including Rs. 5 premium)





On Allotment

Rs.15 (including Rs. 5 premium)





And balance on first and final call


Application for 4,50,000 shares were received.  Applications for 25,000 shares were rejected and pro-rata allotment was made to the remaining applicants.  Overpayment received on application was adjusted towards sums dud on allotment.  All calls were made and were duly received  except the allotment and final call on 4,800 shares allotted to Raju.  These shares were forfeited and the forfeited shares reissued for Rs. 55,000 fully paid up.


Pass the necessary journal entries in the books of company.







OR


Harshita Ltd. issued a prospectus inviting application for 60,000 equity shares Rs. 10 each a premium of Rs.  3 per share, payable as follows:


On application: Rs. 2 per share; On allotment Rs. 7 (including premium) and balance on first and final call.


Application received for 1,20,000 shares and pro-rata allotment to all the applicants.  Money received in excess on application was adjusted towards the amount due on allotment.


Ramu, who applied for 900 shares, failed to pay the allotment and call money, and his shares were forfeited. Out of these 300 shares were reissued to Chirag as fully paid  for Rs. 8 per share.


Pass the necessary journal entries in books of Company.






8


PART B – ANALYSIS OF FINANCIAL STATEMENTS

17
The debtors turnover ratio of a company is 6 times.  State with reason whether the ratio will improve, decrease or not change due to increase in the value of closing stock by Rs. 50,000.


1

18
In which activity will you include the payment of interest on  loan by a manufacturing company while prepare a Cash flow Statement?









1

19
Define Cash Flow Statement.








1

20
Give the three items of each under the sub-heading of ‘Loan and advance’ and Provision.

3

21
Prepare a Comparative Income Statement of HU Ltd. from the following information:








2007


2006








   Rs.


   Rs.



Sales




25,00,000

20,00,000



Cost of goods sold


20,00,000

16,00,000



Indirect expenses


10% of Gross profit
20% of Gross profit



Income Tax




50% of net profit before tax.

4

22
From the following information calculate any two of the following ratios:


(i)
Current ratio
(ii)
Debt-equity ratio

(iii) Operating ratio.


Cost of goods sold 80 % of sales.  Sales Rs. 2,00,000.  ; Equity Shares capital Rs. 7,00,000;


General reserve Rs. 3,00,000; Operating Expenses Rs. 3,00,000; Quick assets Rs. 6,00,000;


9% debentures  Rs. 5,00,000.  Closing stock Rs. 50,000.  Prepaid Expenses Rs. 10,000.


Quick ratio. 0.75.









4

23
From the following balance sheet of Meena Ltd. as on 31.2.2006 and 31.3.2007.  Prepare Cash flow Statement.


Liabilities

2006

2007

Assets


2006

2007





   Rs.

  Rs.




  Rs.

  Rs.


Equity Share Capital
15,00,000
10,00.000
fixed Assets

20,00,000
15,00,000


9% Debentures

  4,00,000
  6,00,000
Stock


  3,00,000
  2,00,000


Profit and Loss Account
  1,50,000
  2,00,000
Debtors


  2,00,000
  1,00,000


Creditors

  4,50,000
  1,00,000
Cash


  5,00,000
  2,00,000


General Reserve

  4,00,000
     60,000



Provision for tax

  1,00,000
     40,000




30,00,000
20,00,000



30,00,000
20,00,000

Additional information:

(i) During the year a machinery book value Rs. 2,00,000 was sold For Rs. 60,000
(ii) Interim Dividend paid Rs. 50,000.







6

“Success is never permanent, and failure is never final”
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